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Note: All questions are compulsory. Marks are indicated against each question in square

brackets.

For all the questions image,I1 and 12 are referred to the following images:
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QL. Considering the image 11 above:
a. Determine the type of noise present in the image.
Apply the filter that can best be used to remove the noise from the image.
Draw the normalized histogram of the image.
Determine with reason if the contrast of the image can be increased? (Yes/No).
If the answer to part (d) is yes, then mention how the contrast can be increased and obtain

o /0T

the image with increased contrast.
[1+3+2+2+2=10] CO3

Q2. Write the filter mask/ window/template for the following filters (assume size of the filter as
3X3)
a. Average Filter b. Laplacian Filter c. Sobel Filter
[1+1+1=3] CO2



(33. State in brief the basic concept used in the following methods with respect to image

processing:

d.

b. Edge Detection

Image Enhancement ¢. Image Segmentation

d. Feature Extraction

[2X4 =8] CO2

Q4. Considering image 12 {on page 1):

a.
b.

C.

Determine the angle and the distance at which GLCM should be calculated.

Considering your answer in part (a), determine the normalized GLCM.

Evaluate ASM and contrast for the GL.CM obtained in part (b)

Mention the significance of the values obtained in part (¢) do determine the type of

texture present in the image.

[24342+2 = 9] CO3

Q5. In the following two cases determine if it is possible to classify between the two classes
(represented as X and O respectively) using neurons. It yes, show classification boundaries.
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Q6. With respect to Artificial Neural Network, write a brief note on the following:

d.

Supervised Learning

b. Unsupervised Learning

C.

Learning Rate

[1X3 =3] CO4



